

County Distribution Detail Report through 11/01/2021

Aurora

9/2021

1,722

3,822

9

5,553

\$140.01

\$6,801.24

\$6,941.25

\$4,760.87

0.70

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,016	1,858	22	2,896	\$3,620.00	\$100.27	\$3,519.73	0.70	\$2,463.81
							Entity Tota	al:	\$2,463.81
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,463.81
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
7/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
8/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
9/2021	3,302	10,216	1,243	14,761	\$18,451.25	\$386.09	\$18,065.16	0.70	\$12,645.61
							Entity Tota	al:	\$12,671.86
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$12,671.86
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	871	1,148	6	2,025	\$2,531.25	\$56.28	\$2,474.97	0.70	\$1,732.48
							Entity Tota	al:	\$1,732.48
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,732.48
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
					.			. 0.00111	

							Entity Tota	al:	\$4,760.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,760.87
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	10,514	20,842	197	31,553	\$39,441.25	\$829.32	\$38,611.93	0.70	\$27,028.35
							Entity Tota	al:	\$27,028.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$27,028.35
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
7/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
8/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
9/2021	8,658	25,817	574	35,049	\$43,811.25	\$942.14	\$42,869.11	0.70	\$30,008.38
							Entity Tota	al:	\$30,034.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$30,034.63
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2021	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63

3 7/2021 \$3.75 \$0.00 0.70 \$3.75 3 0 0 3 \$3.75 \$0.00 0.70 \$2.63 8/2021 9/2021 2,054 3,612 52 5,718 \$7,147.50 \$146.22 \$7,001.28 0.70 \$4,900.90 **Entity Total:** \$4,908.79

Adjustment: \$0.00
Total Amount: \$4,908.79
Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	525	433	81	1,039	\$1,298.75	\$41.17	\$1,257.58	0.70	\$880.31

							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$880.31
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	2,163	6,372	46	8,581	\$10,726.25	\$232.63	\$10,493.62	0.70	\$7,345.53
							Entity Tota	al:	\$7,345.53
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,345.53
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	643	1,379	8	2,030	\$2,537.50	\$54.59	\$2,482.91	0.70	\$1,738.04
							Entity Tota	al:	\$1,738.04
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,738.04
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	2,438	5,248	22	7,708	\$9,635.00	\$195.23	\$9,439.77	0.70	\$6,607.84
							Entity Tota	al:	\$6,607.84
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,607.84
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	70	2,867	104	3,041	\$3,801.25	\$95.64	\$3,705.61	0.70	\$2,593.93
							Entity Tota	al:	\$2,593.93
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,593.93
City of North Sioux	City, Uni								

Entity Total:

\$880.31

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	598	2,607	130	3,335	\$4,168.75	\$96.64	\$4,072.11	0.70	\$2,850.48
							Entity Tota	al:	\$2,850.48
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,850.48
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	3,292	10,675	151	14,118	\$17,647.50	\$364.60	\$17,282.90	0.70	\$12,098.03
							Entity Tota	al:	\$12,098.03
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$12,098.03
City of Sioux Falls, I	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	4,443	26,456	2,659	33,558	\$41,947.50	\$881.01	\$41,066.49	0.70	\$28,746.54
							Entity Tota	al:	\$28,746.54
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$28,746.54
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,196	2,182	41	3,419	\$4,273.75	\$87.40	\$4,186.35	0.70	\$2,930.45
							Entity Tota	al:	\$2,930.45
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,930.45
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	11	0	0	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63
7/2021	11	0	0	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63
8/2021	11	0	0	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63

9/2021	1,571	7,334	250	9,155	\$11,443.75	\$244.19	\$11,199.56	0.70	\$7,839.69
							Entity Tot	al:	\$7,868.58
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,868.58
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
7/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
8/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
9/2021	6,509	18,570	826	25,905	\$32,381.25	\$690.77	\$31,690.48	0.70	\$22,183.34
							Entity Tot	al:	\$22,209.59
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$22,209.59
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	988	719	299	2,006	\$2,507.50	\$52.42	\$2,455.08	0.70	\$1,718.56
							Entity Tot	al:	\$1,718.56
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,718.56
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
7/2021	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
8/2021	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
9/2021	3,162	5,852	57	9,071	\$11,338.75	\$256.43	\$11,082.32	0.70	\$7,757.62
							Entity Tot	al:	\$7,770.76
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,770.76
Davison									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
7/2021	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
8/2021	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
9/2021	4,424	13,881	311	18,616	\$23,270.00	\$484.13	\$22,785.87	0.70	\$15,950.11
							Entity Tota	ıl:	\$15,965.86
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$15,965.86
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,876	3,349	57	5,282	\$6,602.50	\$134.47	\$6,468.03	0.70	\$4,527.62
							Entity Tota	ıl:	\$4,527.62
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,527.62
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,576	2,818	93	4,487	\$5,608.75	\$123.41	\$5,485.34	0.70	\$3,839.74
							Entity Tota	ıl:	\$3,839.74
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$3,839.74
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,091	2,101	14	3,206	\$4,007.50	\$83.78	\$3,923.72	0.70	\$2,746.60
							Entity Tota	ıl:	\$2,746.60
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,746.60
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,127	2,798	50	3,975	\$4,968.75	\$100.67	\$4,868.08	0.70	\$3,407.66

							•		• •
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,407.66
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	2,775	4,468	28	7,271	\$9,088.75	\$187.57	\$8,901.18	0.70	\$6,230.83
							Entity Tota	al:	\$6,230.83
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,230.83
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	685	1,433	26	2,144	\$2,680.00	\$54.94	\$2,625.06	0.70	\$1,837.54
							Entity Tota	al:	\$1,837.54
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,837.54
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2021	1,843	5,185	60	7,088	\$8,860.00	\$180.97	\$8,679.03	0.70	\$6,075.32
							Entity Tota	al:	\$6,080.57
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,080.57
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,535	3,427	6	4,968	\$6,210.00	\$136.70	\$6,073.30	0.70	\$4,251.31
							Entity Tota	al:	\$4,251.31

Entity Total:

\$3,407.66

Adjustment:	\$0.00
Total Amount:	\$4,251.31

\$3,200.83

Total Amount:

Ha	ak	on
----	----	----

наакоп									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	938	1,304	5	2,247	\$2,808.75	\$56.48	\$2,752.27	0.70	\$1,926.59
							Entity Tota	al:	\$1,926.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,926.59
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,447	3,705	41	5,193	\$6,491.25	\$130.93	\$6,360.32	0.70	\$4,452.22
							Entity Tota	al:	\$4,452.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,452.22
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2021	970	2,514	34	3,518	\$4,397.50	\$94.34	\$4,303.16	0.70	\$3,012.21
							Entity Tota	al:	\$3,017.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,017.46
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	781	2,916	39	3,736	\$4,670.00	\$97.38	\$4,572.62	0.70	\$3,200.83
							Entity Tota	al:	\$3,200.83
							Adjustmer	nt:	\$0.00

Н	ar	di	n	q

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	639	820	2	1,461	\$1,826.25	\$47.23	\$1,779.02	0.70	\$1,245.31
							Entity Tota	al:	\$1,245.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,245.31
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
7/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2021	557	2,833	191	3,581	\$4,476.25	\$146.02	\$4,330.23	0.70	\$3,031.16
							Entity Tota	al:	\$3,038.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,038.16
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	2,637	4,978	50	7,665	\$9,581.25	\$207.66	\$9,373.59	0.70	\$6,561.51
							Entity Tota	al:	\$6,561.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,561.51
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	578	1,024	12	1,614	\$2,017.50	\$40.89	\$1,976.61	0.70	\$1,383.63
							Entity Tota	al:	\$1,383.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,383.63
Jackson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	573	803	5	1,381	\$1,726.25	\$34.94	\$1,691.31	0.70	\$1,183.92
							Entity Tota	al:	\$1,183.92
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,183.92
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	752	1,224	14	1,990	\$2,487.50	\$50.07	\$2,437.43	0.70	\$1,706.20
							Entity Tota	al:	\$1,706.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,706.20
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	494	652	4	1,150	\$1,437.50	\$29.30	\$1,408.20	0.70	\$985.74
							Entity Tota	al:	\$985.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$985.74
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	20	0	0	20	\$25.00	\$0.00	\$25.00	0.70	\$17.50
7/2021	20	0	0	20	\$25.00	\$0.00	\$25.00	0.70	\$17.50
8/2021	16	0	0	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
9/2021	1,075	3,889	57	5,021	\$6,276.25	\$143.28	\$6,132.97	0.70	\$4,293.08
							Entity Tota	al:	\$4,342.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,342.08
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

6/2021	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
7/2021	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2021	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2021	2,442	8,659	127	11,228	\$14,035.00	\$289.66	\$13,745.34	0.70	\$9,621.74
							Entity Tot	al:	\$9,624.38
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$9,624.38
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
7/2021	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2021	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2021	6,998	17,303	253	24,554	\$30,692.50	\$643.13	\$30,049.37	0.70	\$21,034.56
							Entity Tot	al:	\$21,037.20
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$21,037.20
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	8	0	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
7/2021	8	0	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
8/2021	8	0	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
9/2021	3,335	23,513	1,395	28,243	\$35,303.75	\$819.41	\$34,484.34	0.70	\$24,139.04
							Entity Tot	al:	\$24,160.04
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$24,160.04
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,035	1,681	305	3,021	\$3,776.25	\$81.40	\$3,694.85	0.70	\$2,586.40
							Entity Tot	al:	\$2,586.40
							Adjustme	nt:	\$0.00

	Total Amount:	\$2,586.40

Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,434	2,774	37	4,245	\$5,306.25	\$114.91	\$5,191.34	0.70	\$3,633.94
							Entity Tota	al:	\$3,633.94
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,633.94
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,844	4,099	15	5,958	\$7,447.50	\$152.34	\$7,295.16	0.70	\$5,106.61
							Entity Tota	al:	\$5,106.61
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$5,106.61
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	893	1,501	6	2,400	\$3,000.00	\$71.86	\$2,928.14	0.70	\$2,049.70
							Entity Tota	al:	\$2,049.70
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,049.70
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
7/2021	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
8/2021 9/2021	6 2,973	0 17,611	0 159	6 20,743	\$7.50 \$25,928.75	\$0.00 \$556.85	\$7.50 \$25,371.90	0.70 0.70	\$5.25 \$17,760.33
							Entity Tota	al:	\$17,776.08
							Adjustme	nt:	\$0.00

Total Amount:

\$17,776.08

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	544	713	3	1,260	\$1,575.00	\$31.72	\$1,543.28	0.70	\$1,080.30
							Entity Tota	ıl:	\$1,080.30
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,080.30
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	928	1,591	11	2,530	\$3,162.50	\$65.79	\$3,096.71	0.70	\$2,167.70
							Entity Tota	ıl:	\$2,167.70
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,167.70
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	205	0	0	205	\$256.25	\$0.00	\$256.25	0.70	\$179.38
7/2021	201	0	0	201	\$251.25	\$0.00	\$251.25	0.70	\$175.88
8/2021	197	0	0	197	\$246.25	\$0.00	\$246.25	0.70	\$172.38
9/2021	37,264	150,487	4,823	192,574	\$240,717.50	\$5,223.30	\$235,494.20	0.70	\$164,845.94
							Entity Tota	ıl:	\$165,373.58
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$165,373.58
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
7/2021	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
8/2021	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
9/2021	1,132	4,458	64	5,654	\$7,067.50	\$144.71	\$6,922.79	0.70	\$4,845.95
							Entity Tota	ıl:	\$4,856.45
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,856.45
Pennington									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	43	0	0	43	\$53.75	\$0.00	\$53.75	0.70	\$37.63
7/2021	43	0	0	43	\$53.75	\$0.00	\$53.75	0.70	\$37.63
8/2021	41	0	0	41	\$51.25	\$0.00	\$51.25	0.70	\$35.88
9/2021	22,685	81,904	2,505	107,094	\$133,867.50	\$2,919.99	\$130,947.51	0.70	\$91,663.26
							Entity Tota	al:	\$91,774.40
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$91,774.40
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,661	2,129	12	3,802	\$4,752.50	\$105.91	\$4,646.59	0.70	\$3,252.61
							Entity Tota	al:	\$3,252.61
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,252.61
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,039	1,732	15	2,786	\$3,482.50	\$70.12	\$3,412.38	0.70	\$2,388.67
							Entity Tota	nl:	\$2,388.67
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,388.67
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	3,144	5,071	22	8,237	\$10,296.25	\$227.77	\$10,068.48	0.70	\$7,047.94
							Entity Tota	nl:	\$7,047.94
							Adjustmen	nt:	\$0.00
							Total Amo		\$7,047.94
Sanborn									. ,-
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

9/2021	721	1,738	18	2,477	\$3,096.25	\$63.02	\$3,033.23	0.70	\$2,123.26
							Entity Tota	ıl:	\$2,123.26
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$2,123.26
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,668	4,378	83	6,129	\$7,661.25	\$158.38	\$7,502.87	0.70	\$5,252.01
							Entity Tota	ıl:	\$5,252.01
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$5,252.01
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2021	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
8/2021	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
9/2021	645	2,167	44	2,856	\$3,570.00	\$75.71	\$3,494.29	0.70	\$2,446.00
							Entity Tota	ıl:	\$2,453.89
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$2,453.89
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	572	1,076	4	1,652	\$2,065.00	\$42.13	\$2,022.87	0.70	\$1,416.01
							Entity Tota	ıl:	\$1,416.01
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$1,416.01
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1	116	2	119	\$148.75	\$13.85	\$134.90	0.70	\$94.43

							•		•
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$94.43
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	2,114	3,962	45	6,121	\$7,651.25	\$157.66	\$7,493.59	0.70	\$5,245.51
							Entity Tot	al:	\$5,245.51
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,245.51
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,595	5,993	15	7,603	\$9,503.75	\$192.76	\$9,310.99	0.70	\$6,517.69
							Entity Tot	al:	\$6,517.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,517.69
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
7/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
8/2021	10	0	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
9/2021	2,539	10,792	404	13,735	\$17,168.75	\$432.70	\$16,736.05	0.70	\$11,715.24
							Entity Tot	al:	\$11,741.49
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$11,741.49
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2021	1,751	3,426	237	5,414	\$6,767.50	\$139.42	\$6,628.08	0.70	\$4,639.66
							Entity Tot	al:	\$4,639.66
							A .15 4		40.00

Entity Total:

Adjustment:

\$94.43

\$0.00

Total Amount:	\$4,639.66
---------------	------------

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2021	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2021	4,610	15,809	476	20,895	\$26,118.75	\$558.32	\$25,560.43	0.70	\$17,892.30
							Entity Total:		\$17,898.43
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$17,898.43
TOTALS	190,752	598,814	18,956	808,522	\$1,010,652.50	\$21,811.03	\$988,841.47		